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%% % 7 & Instructions to Contestants

10.

11.

R S E AN 2}%% I O R =" s S S S
You should place your Admission Form on your desk for the whole session.

I FHRF L EMAT S RIF AR L2 B EP KR .
During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.

RIEP LT RGN F o - PR R gure}g P o
Contestants should finish all questions in this 1-hour written test.
EEMAERER A FFH LA I AR R R R
Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.

FREVFRR AR A R B T M
You can only use the rough work sheet provided by the organizer.

;ja;;‘:—?;n ?%E‘LL%\:‘ BB .

The use of calculators is NOT allowed.

FHEPFEEFED A RELFHAL > FR A=A 2FF T FHERFE S

Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.

AR BT A BN R 2 E -

Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
f#’#\ﬁ‘/m b ’Z?‘ﬁ*"‘ﬂ‘iﬁﬁ ZED AR fEF LS

Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.

BEVFRREG VAR RFTR

Any contestant who violates the rules and regulations of the competition might risk disqualification.
FREAH FERA RN G ERANALE FFEANE I R T
ERDERI KT 4§ RY A F et BB AR
If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

A-\\

queries will not be entertained. The decision of the organizing committee will be final.
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Time Allowed: 1 hour Total marks: 100

1. ffRE—(ERE M > % A~ B~ C DM EEAEENET @ (Hi5E— "8y, T 57, H
TEPEAR ) = EEERIEEE > SKA+B+C+D+E HUE - 297)

The following table is a magic square, filling in the numbers A, B, C, D and E, the sum of the
numbers in each row, each column and each diagonal is equal.

What is the value of A+B+C+D+E? (2 marks)
A B 9
C 10 D
11 5 E
2. —EIEANEILAILIEZ DR 4R 7 297)
How many diagonals can be drawn on a regular hexagon? (2 marks)
3. —E=Am=fRE&EALE 7:9:10 - B REREHEHZ 36cm iﬁﬁzgg?@ﬁ
The ratio of the sides of a triangle is 7 : 9 : 10. If the difference between the longest and the
shortest sides is 36 cm, what is the perimeter of this triangle? (3 marks)

4. EEYETEEAESY ST BEES AT 2 0 o 5 — (PR % n] DUEEE
AL BUEED » SERE T DU B R A I A 3 SRR e/ DRE /DIy ?
(€))
One burger steak brand suggested that the best cooking time for their burger steak is to pan-fry
each side of the steak for 2 mins. If the size of the pan for frying those steaks can only accommodate
2 pieces of steaks at the same time. What is the minimum time for cooking 3 pieces of burger steaks
with its suggested cooking time? (3 marks)

5. 47 reET - A 31 NZFRN -7 23 NIZFER - A 18 ABRIZAFRXIZFEA - 55
BV BERAIZF RN SAIZFENA 7 (3 47)
There are 47 customers in a restaurant. 31 of them eat beef and 23 of them eat pork. 18 of them
eat both beef and pork. How many customers eat neither beef nor pork? (3 marks)

6. ERIHEDIEAE R 6 dHAER T 1 A SR 5 41 RlgR T~ 3 A - HiEMEDL LA
27 frZcs2A: » A AE NEEE 20824 NSV » SKIEITERA HYEE A - (3 57)
If a class is split into groups of six, there is one student left. If the same class is split into groups
of 5, there are three students left. If there are 27 girls in the class and the number of boys is less

than that of girls, find the total number of students in the class? (3 marks)
7. K TEH AWE - 37
In the following figures, find the value of A. (3 marks)
OAA|— OOOA =] | N
8. (B FEEE My 46 620 - R EMAVEEEZS /D ? (3 77)
The product of three consecutive numbers is 46 620. What is their sum? (3 marks)
9. —MEEArEAERE 2 3 K 5 8k o KiETUEHIRAAREE - (4 77)
A 7-digit number can be divisible by 2 , 3 and 5 . Find the greatest possible value of this 7-digit
number. (4 marks)
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CURITEJTZ ABCD B &Ry 4 cm > H AR
ECGF Y& GF #15 CG [H 55 6 cm & ©

=F4J¥ DBF W& %/ em® ? c D e (497)
The length of the square ABCD is 4 cm, the length
of GF and CG of the right-angled trapezium ECGF

are 6 cm. What is the area of the triangle DBF in cm? ? (4 marks)
T % D ETE d / @ 5)
In the following figure, how many squares are there? (4 marks)
KTEF A~B-CHIDHIHE - (457)
In the following figure, find the values of A, B, C and D. (4 marks)

3
s a' —axax..xa o of 27{1) 1 - (45)
nfiE"a" 4
1 3
Define a" =axax...xa .Find the value of 27x[—j ) (4 marks)
ﬁ—/ 4

"a"appear n times

RUPEMAATEREROE —Eh 3 (AR - B E8 s miE o, £ 79,
HEHL > BEHEE A RES AR - BRI R B AT AH R M A [ Y3 2 (S 77)

John is setting a 3-digit password from 0 to 9 inclusive without repetition for his suitcase. How

many different passwords can be formed? (5 marks)
i 2022 ERER T EBCE T07 > BIIHVEREHESAMHE - HEhaA 1 EER - M5
BIP2joE 2470 s (5 1)

2022 apples are separated into groups. Numbers of apples in each group are distinct. There is at
least an apple in each group. At most how many groups of apples can be formed? (5 marks)

Bl 1+2+3+--100=5050 k7 1x14+2x2+3x3+---+100x100=338350 -

K Ix3+2x5+3x7+4x9+---+100x 201 - (547
It is given that 1+2+3+---100=5050 and 1x1+2x2+3x3+---+100x100=338350.
Find 1x3+2x5+3x7+4x9+---+100x201. (5 marks)
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3ABCS JZ—{lE 5 % - % 3ABC8 /& 9 HUfEHE > H A#B#C - K& 5 (U BHIm K AT RE(H

(6 57)
3ABCS is a 5-digit number. If 3ABCS is multiple of 9, where A # B # C. Find the greatest possible
number of the 5-digit number. (6 marks)
AR E TE TR T TR R EEREE0-9)

5 e
X fE FE
39 7 6
KEX T B+ E o EE? (6 77)
In the following calculation, ‘C’, ‘A’, ‘R’ and ‘E’ represent a non-repeated number (0 — 9).
C A
X R E
39 7 6
What is the value of the calculation of *C+A+R+E’? (6 marks)
N 1 1 1 1
BT E + + +.ot ° 79
f 10x11 11x12 12x13 2030 x 2031 750
Evaluate ! + ! + 1 +..+ 1 . (7 marks)
10x11 11x12 12x13 2030 x 2031
1 1849 .
LA = » K x HIE - (7 53)
2 110 18674
3
7 + 20
*t 30
1 1849
Given that = , find the value of x. (7 marks)
2 1+ 10 18674
3
7 + 20
*t 30
—_— /, 3 Yaviogh _— /, A
AlET - =P ABC 2iE& 192 BRI EFE=AF -
= fVABD - =f4J/DBE » =fiJ DEF & =fajt FEC D
AR - 5K ECHFC - 8 49)
In the following figure, the length of triangle ABC is an F
equilateral triangle is 192 cm. If the area of triangle ABD,
triangle DBE, triangle DEF and triangle FEC is equal,
find EC+FC. 8 mark:
n B = ¢ (8 marks)
CHIETTE ABCD HYHEfEZE 720 » Hf X £ AB A Z D
fsh® o Y 22 CD |-f93k# CD = 4DY - Z &£ AD
04| 3 ol [ , Y
EHRE AZ= gAD o Kz S (Clsp)
The area of rectangle ABCD is 720. X is the X
mid-point of AB, Y is a point of CD such that
CD =4DY, Z is a point of AD such that
AZ = gAD. Find the area of the shaded region. B C (9 marks)

%52 END OF PAPER
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